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Divisione di un numero intero Nome:
Risolvi ogni operazione. Risposte
1) 33:2= 2) 44:2=
1.
2.
3.
3) 29:9= 4) 58:2= A
5.
6.
5) 22:5= 6) 54:2= 7.
8.
9.
10.
7) 40:2= 8) 31:6=
11.
12.
9) 66:2= 10) 27:5=
11) 21:2= 12) 80:2=
[ ] 1-10 [92[83]75]67]58]50[42[33]25]17]
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Divisione di un numero intero Nome: Soluzioni
Risolvi ogni operazione. Risposte
1) 33:2= 161l 2) 44 : 22
1 16 r1
2. 22
3. 3r2
3) 29:9=_312 4) 58:2=_29 . 29
5. 4 r2
§ 27
5) 22:5= 412 6) 54: 27 7. 20
3. 5ril
9 33
10. 5r2
7) 40:2= 20 8 31: 5rl
11. 10 r1
12. 40
9) 66:2= 33 10) 27: 512
11) 21:2= 107l 12) 80: 40
1-10 [92[83]75]67]58]50[42[33]25]17]
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